Cost Accounting      Quiz Chapter 10        Name______________________________________

1. Which of the following does NOT represent a cause-and-effect relationship?

A.  Material costs increase as the number of units produced increases.

B.  A company is charged 40 cents for each brochure printed and mailed. 

C.  Utility costs increase at the same time that insurance costs increase.

D.  It makes sense that if a complex product has a large number of parts it will take longer to assemble than a simple product with fewer parts.

2.  Penny’s TV and Appliance Store is a small company that has hired you to perform some management advisory services. The following information pertains to 2007 operations.


Sales (2,000 televisions)
$ 900,000


Cost of goods sold
400,000


Store manager's salary per year
70,000


Operating costs per year
157,000


Advertising and promotion per year
15,000


Commissions (4% of sales)
36,000


What was the variable cost per unit sold for 2007?


A.  $18


B.  $218


C.  $339


D.  $200


What were total fixed costs for 2007?


A.  $678,000


B.  $436,000


C.  $242,000


D.  $227,000


What are the estimated total costs if Penny’s expects to sell 3,000 units next year?


A.  $896,000


B.  $678,000


C.  $1,017,000


D.  $799,000


Which cost estimation method is being used by Penny’s TV and Appliance Store?


A.  the industrial engineering method


B.  the conference method


C.  the account analysis method


D.  the quantitative analysis method

3. The independent variable: 


A.  is also referred to as the cost driver.

B.  may also be called the cost-allocation base if referring to an indirect cost.

C.  should have an economically plausible relationship with the dependent variable.

D.  All of these answers are correct.

4. A plot of data that results in bunched points with little slope generally indicates:


A.  a strong relationship.

B.  a weak relationship.

C.  a positive relationship.

D.  a negative relationship.
5. When using the high-low method, the two observations used are the high and low observations of the:


A.  cost driver.

B.  dependent variables.

C.  slope coefficient.

D.  residual term.
6. The slope of the line of regression is the:


A.  rate at which the dependent variable varies


B.  rate at which the independent variable varies


C.  level of total fixed costs


D.  level of total variable costs

7. An inaccurate cost function with a slope coefficient that is estimated too low may MOST likely result in:


A.  predicting total costs that are too high.

B.  initiating cost cutting measures when they are unnecessary.

C.  evaluating a weak manager as having strong performance.

D.  promoting a product that is actually more profitable than budgeted.
8. A step variable-cost function: 


A.  is fixed over the long run but not over the short run.

B.  is often approximated with a continuous variable-cost function.

C.  remains the same over a wide range of activity.

D.  example includes adding additional warehouse space.
1. Which of the following does NOT represent a cause-and-effect relationship?

A.  Material costs increase as the number of units produced increases.

B.  A company is charged 40 cents for each brochure printed and mailed. 

C.  Utility costs increase at the same time that insurance costs increase.

D.  It makes sense that if a complex product has a large number of parts it will take longer to assemble than a simple product with fewer parts.

2.  Penny’s TV and Appliance Store is a small company that has hired you to perform some management advisory services. The following information pertains to 2007 operations.




Sales (2,000 televisions)
$ 900,000




Cost of goods sold
400,000




Store manager's salary per year
70,000




Operating costs per year
157,000




Advertising and promotion per year
15,000




Commissions (4% of sales)
36,000


What was the variable cost per unit sold for 2007?


A.  $18


B.  $218


C.  $339


D.  $200


($400,000 + $36,000) / 2,000 = $218 per unit


What were total fixed costs for 2007?


A.  $678,000


B.  $436,000


C.  $242,000


D.  $227,000

$70,000 + $157,000 + $15,000 = $242,000


What are the estimated total costs if Penny’s expects to sell 3,000 units next year?


A.  $896,000


B.  $678,000


C.  $1,017,000


D.  $799,000

$896,000 = $70,000 + $157,000 + $15,000 + [($400,000 + $36,000) / 2,000 x 3,000]


Which cost estimation method is being used by Penny’s TV and Appliance Store?


A.  the industrial engineering method


B.  the conference method


C.  the account analysis method


D.  the quantitative analysis method

3. The independent variable: 


A.  is also referred to as the cost driver


B.  may also be called the cost-allocation base if referring to an indirect cost


C.  should have an economically plausible relationship with the dependent variable


D.  All of these answers are correct.

4. A plot of data that results in bunched points with little slope generally indicates:


A.  a strong relationship


B.  a weak relationship


C.  a positive relationship


D.  a negative relationship

5. When using the high-low method, the two observations used are the high and low observations of the:


A.  cost driver


B.  dependent variables


C.  slope coefficient


D.  residual term

6. The slope of the line of regression is the:


A.  rate at which the dependent variable varies


B.  rate at which the independent variable varies


C.  level of total fixed costs


D.  level of total variable costs

7. An inaccurate cost function with a slope coefficient that is estimated too low may MOST likely result in:


A.  predicting total costs that are too high.


B.  initiating cost cutting measures when they are unnecessary.


C.  evaluating a weak manager as having strong performance.


D.  promoting a product that is actually more profitable than budgeted.

8. A step variable-cost function: 


A.  is fixed over the long run but not over the short run.


B.  is often approximated with a continuous variable-cost function.


C.  remains the same over a wide range of activity.


D.  example includes adding additional warehouse space.
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